

Environment Indigenous Energy Law

Direct Dial: File: 416-862-4827 10430

Sent by Electronic Mail and RESS Filing

October 6, 2022

Ontario Energy Board 2300 Yonge Street Suite 2700 Toronto, Ontario M4P 1E4

Attention: Nancy Marconi, Registrar

Dear Ms. Marconi:

Re: Ontario Sustainable Energy Association's ("OSEA") Cost Claim Consultation on Enbridge Gas Inc.'s 2022 Annual Update to Five-Year Natural Gas Supply Plan (Board File No. EB-2022-0072)

Please find enclosed the OSEA's cost claim in the above-noted matter, pursuant to the Ontario Energy Board's Notice of Hearing for Cost Awards dated September 26, 2022.

Yours truly,

Raeya Jahi

Raeya Jackiw

cc: Dan Goldberger, OSEA Travis Lusney, Power Advisory LLC

Document #: 2234879

Willms & Shier Environmental Lawyers LLP - Toronto

Toronto Calgary Ottawa **willmsshier.com**

<u>EB-2022-</u>	<u>EB-2022-0072 : 1 : Swaberene Baksh</u>						
COST CLAIM NUMBER 696	SUBMISSION DEADLINE DATE October 06, 2022	CLAIM STATUS Approved by Finance					
EB# EB-2022-0072: Initiatives: Regulatory Direction and Oversight: Ontario Energy Board	OTHER EB#S	PHASE #* 1					
INTERVENOR Baksh, Swaberene; +1 (416) 863-0711 sbaksh@willmsshier.com	INTERVENOR COMPANY* Ontario Sustainable Energy Association, Toronto: Corporation	INTERVENOR TYPE Full Registrant					
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY					
HST NUMBER 1132627988RT0001	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE					

PARTICIPANTS

New	Non-Filing Participant First, Last Name	Filing Participant	Participant Total (\$) Claim Status
No	1	Lusney, Travis; +1 (647) 680-1154 tlusney@poweradvisoryllc.com	2,293.90 Submitted
No	,	Jackiw, Raeya; +1 (416) 862-4827 rjackiw@willmsshier.com	1,479.17 Submitted

ATTACHMENTS

	A 44 m m h um h um h um h		Desument	Claim	
Attachment	Attachment Date	Participant	Document Type	Туре	lmport Message
OSEA_CoverLtr_Costclaim_20221006.pdf			Cover Letter		
Travis Lusney Invoice -EB-2022-0072.pdf			Time Docket		
OSEA EB-2022-0072 Cost Claim 100620221250.pdf			Doonor		
TOTAL LEGAL/CONSULTANT/OTHER FEES 3,339.00	TOTAL DISBU	JRSEMENTS 0.00			TOTAL HST 434.07
TOTAL CLAIM 3,773.07	TOTAL AMOU	INT AWARDED			
REASON FOR	REASON FOR	२		REASC	ON FOR
DISALLOWANCE	DISALLOWAN	ICE - 2		DISALI	OWANCE - 3
MAKE CHEQUE PAYABLE TO					
Willms & Shier Environmental Lawyers LLP					
SEND PAYMENT TO ADDRESS				ATTEN	
1 Toronto Street Suite 900, Toronto				Accour	ting Department
ON					
M5C 2V6					
SUBMIT SECTION					

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Raeya Jackiw DATE SUBMITTED October 06, 2022

	PARTICIPANT		
CASE EB-2022-0072: Initiatives: Regulatory Direction and Oversight: Ontario Energy Boar	COST CLAIM EB-2022-0072 : 1 : Swaberene Baksh d	INTERVENOR NAME Baksh, Swaberene; +1 (416) 863-0711 sbaksh@willmsshier.com	CLAIM STATUS Submitted
FILING PARTICIPANT Lusney, Travis; +1 (647) 680-11 tlusney@poweradvisoryllc.com	NEW PARTICIPANT No	NON-FILING PARTICIPANT F. NAME	NON-FILING PARTICIPANT L. NAME
SERVICE PROVIDER TYPE Consultant	YEAR CALLED TO BAR	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 11	HOURLY RATE 290
CV STATUS (FOR			HST RATE
CONSULTANT/ANALYST)	LAST CV DATE		CHARGED
CV Provided within Previous 24 Months	February 17, 2022		13.00
HEARINGS	CONSULTATIONS	DISBURSEMENTS	
No	Yes	No	

CONSULTATION								
Description	<u> </u>	Maximum Ho	ours	Hourly Data	<u>Sub</u>	HST Data	UOT	Tatal
Consultation		<u>Hours</u>		<u>Rate</u>	<u>Total</u>	<u>Rate</u>	<u>HST</u>	<u>Total</u>
Consultation Written questions		10.00	5.00	290	1,450.0	0 13.00	188.50	1,638.50
Written comments on gas supply plan Consultation Total	1	12.00	2.00	290	580.0	0 13.00	75.40	655.40
Total Legal/Consultant Fees					2.030.0	0	263.90	2,293.90
Attachments								
Attachment	Document Typ	<u>e Import</u>	Messag	<u>e</u>				
Travis Lusney Invoice.pdf Travis Lusney Invoice.pdf	Time Docket Invoice							

Travie Luenov

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

Travis Lusney Invoice.pdf Travis Lusney Invoice.pdf

Document Type Time Docke Consultations

Import Message

Invoice Consultations

Claim Type

Power Advisory LLC 55 University Avenue, Suite 700, PO Box 32 Toronto, ON M5J 2H7



Ontario Sustainability Energy Association 720 Bathurst St, 3rd FL Toronto, Ontario M5S 2R4

Invoice 2209081

Date	Sep 30, 2022
Terms	
Service Thru	Sep 30, 2022

In Reference To: Annual Gas Supply Plan (EB-2022-0072) (Labor)

Annual Gas Supply Plan (EB-2022-0072)

Date	Ву	Services	Hours	Rates	Amount
04/14/2022	TL	Review Supply Plan and generate questions for ENB	5.00	\$ 290.00/hr	\$ 1,450.00
05/24/2022	TL	Edit comments for submission	2.00	\$ 290.00/hr	\$ 580.00

Total Hours	7.00 hrs
Labor	\$ 2,030.00
Labor HST 81338 8691 RT001	\$ 263.90
Total Labor	\$ 2,293.90
Total Invoice Amount	\$ 2,293.90
Previous Balance	\$ 0.00
Balance (Amount Due)	\$ 2,293.90

Notes:

Power Advisory LLC remittance address indicated above. Electronic payment instructions available upon request.

For invoice and payment questions contact: Julie Glover (jglover@poweradvisoryllc.com)

User Hours Summary

Billing Period: 04/14/2022 - 09/30/2022

User Hour Totals

User	Hours Billed	Rate/Hour	Amount Billed
Travis Lusney	7.00	\$ 290.00	\$ 2,030.00

Power Advisory LLC 55 University Avenue, Suite 700, PO Box 32 Toronto, ON M5J 2H7



Ontario Sustainability Energy Association 720 Bathurst St, 3rd FL Toronto, Ontario M5S 2R4

Invoice 2209081

Date	Sep 30, 2022
Terms	
Service Thru	Sep 30, 2022

In Reference To: Annual Gas Supply Plan (EB-2022-0072) (Labor)

Annual Gas Supply Plan (EB-2022-0072)

Date	Ву	Services	Hours	Rates	Amount
04/14/2022	TL	Review Supply Plan and generate questions for ENB	5.00	\$ 290.00/hr	\$ 1,450.00
05/24/2022	TL	Edit comments for submission	2.00	\$ 290.00/hr	\$ 580.00

Total Hours	7.00 hrs
Labor	\$ 2,030.00
Labor HST 81338 8691 RT001	\$ 263.90
Total Labor	\$ 2,293.90
Total Invoice Amount	\$ 2,293.90
Previous Balance	\$ 0.00
Balance (Amount Due)	\$ 2,293.90

Notes:

Power Advisory LLC remittance address indicated above. Electronic payment instructions available upon request.

For invoice and payment questions contact: Julie Glover (jglover@poweradvisoryllc.com)

User Hours Summary

Billing Period: 04/14/2022 - 09/30/2022

User Hour Totals

User	Hours Billed	Rate/Hour	Amount Billed
Travis Lusney	7.00	\$ 290.00	\$ 2,030.00

	October 17, 202			
CASE EB-2022-0072: Initiatives: Regulatory Direction and Oversight: Ontario Energy Board	Raeya Ja COST CLAIM EB-2022-0072 : 1 : Swaberene Baksh	INTERVENOR NAME Baksh, Swaberene; +1 (416) 863-0711 sbaksh@willmsshier.com	PARTICIPANT CLAIM STATUS Submitted	
FILING PARTICIPANT Jackiw, Raeya; +1 (416) 862-48 rjackiw@willmsshier.com	27 NEW 27 No	NON-FILING PARTICIPANT F. NAME	NON-FILING PARTICIPANT L. NAME	
SERVICE PROVIDER TYPE Legal Counsel	YEAR CALLED TO BAR 2018	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 3	HOURLY RATE 170	
CV STATUS (FOR CONSULTANT/ANALYST) CV Required	LAST CV DATE	U U	HST RATE CHARGED 13.00	
HEARINGS No	CONSULTATIONS Yes	DISBURSEMENTS No		

CONSU	LTATION								
<u> </u>	<u>Description</u>	<u>I</u>	<u>Maximum</u> <u>Ho</u> <u>Hours</u>	<u>urs</u>	<u>Hourly</u> <u>Rate</u>	<u>Sub</u> Total	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
Consultation	n Written questions		10.00	1.60	170	272.	00 13.00	35.36	307.36
	Preparation for the Stakeholder Confere	ence	2.00	0.40	170	68.	00 13.00	8.84	76.84
	Attendance at Stakeholder Conference		10.00	2.20	170	374.	00 13.00	48.62	422.62
Written comments on gas supply plan Consultation Total			12.00	3.50	170	595.	00 13.00	77.35	672.35
	Total Legal/Consultant Fees					1.309.	00	170.17	1,479.17
Attachm	nents								
<u>Attachmer</u> W&S Invoi		ocument Typ Time Docket	<u>e Import</u>	Messag	<u>e</u>				

October 17, 2022

Hearings, Consultations, Disbursements Attachments

Related Disbursement Claim

Attachment W&S Invoice (EB-2022-0072) cost claim.PDF DocumentTypeClaim TypeTime Docke:Consultations

Import Message

Willms & Shier Environmental Lawyers LLP Client Fees Listing Apr/13/2022 To May/25/2022

					Listing				
Date	Fee / Time		Apr/13/20 Workin		May/25/2022	Hours	Amount Inv#	Billing	
	Explanation		Туре	.57	-			5	
1341	Ontario Sustainable Energy A	ssociation							
10430	Re: EB-2022-0072 - Consul					0 00	100.00	1	
	Lawyer: 72 0.80 Hrs X 170.0 review EGI's 2022 Annual Upd		72 Time	72	- RAEYA JACKIW	0.80	136.00	Unbilled	
	Supply Plan;								
	Lawyer: 72 0.80 Hrs X 170.0		72 Thim a	72	- RAEYA JACKIW	0.80	136.00	Unbilled	
2284948	revise and prepare further w questions for stakeholder co		Time						
	instruct S. Baksh to file wr	itten							
	comments; circulate question	s to							
May 4/2022	distribution list; Lawyer: 72 0.40 Hrs X 170.0	0	72	72	- RAEYA JACKIW	0.40	68.00	Unbilled	
2287993	review EGI's evidence update	; prepare	Time						
Max 5/2022	for stakeholder conference; Lawyer: 72 2.20 Hrs X 170.0	0	72	72	- RAEYA JACKIW	2.20	374.00	Unbilled	
	attend Stakeholder Conference		Time	72	INEIA UNCRIW	2.20	571.00	onbrirea	
	Lawyer: 72 1.50 Hrs X 170.0		72	72	- RAEYA JACKIW	1.50	255.00	Unbilled	
2291612	review materials and conside on gas supply plan update;	r comments	Time						
May 24/2022	Lawyer: 72 1.60 Hrs X 170.0	0	72	72	- RAEYA JACKIW	1.60	272.00	Unbilled	
2291712	discuss and draft comments o		Time						
	supply plan and incorporate Lusney's comments; send work								
	to D. Goldberger;								
	Lawyer: 72 0.40 Hrs X 170.0 finalize and submit comments		72 Time	72	- RAEYA JACKIW	0.40	68.00	Unbilled	
2292023	update to Gas Supply Plan;	JII AIIIIUAI	TTING						
							1000 00		
					Unbilled: Billed:	7.70 0.00	1309.00 0.00		
					Total:	7.70	1309.00		
					Percent Billed:	0.00	0.00		
		***	Summarv	by Wor	king Lawyer ***				
			- annuar j						
Working Lawy		ours	moto 1		Inhilled D'		Eine & Toto		
72 – RAEYA		ed Firm %)0 100.00	Total 7.70	% Bld 0.00			Firm % Total 100.00 1309.00	l % Bld 0 0.00	
Firm Total		00 100.00	7.70	0.00			100.00 1309.00		
		*** S1	mmary by	Respo	onsible Lawyer ***				
			anniary by	ксърс	MBIDIC Lawyer				
Responsible		ours	Trot - 1		Unbilled Firm %	Fees			
48 - JOANN		ed Firm %)0 100.00	Total 7.70	% Bld 0.00		Billed 0.00	100.00 1309.00	l % Bld 0 0.00	
Firm Total		$\frac{100.00}{100.00}$ —	7.70	0.00			100.00 1309.00		
REPORT SELEC	TIONS - Client Fees Listing								
Layout Templ	ate		ult(1)						
Advanced Sea Requested by		None Liba		tv Per	strictions)				
Finished					05, 2022 at 02:40:	31 PM			
Ver			(14.1.20						
Date Range Matters		Apr/ 1043	13/2022 Т О	o May/	25/2022				
Clients		All	•						
Major Client		All							
Client Intro Matter Intro		All All							
Responsible		All							
Assigned Law	-	All							
Type of Law		All	ve Tract	ive 7	Archived Mattors				
Select From Matters Sort	by	Acti Defa		ive, A	Archived Matters				
	Each Lawyer	No							
Firm Totals	-	No							
Client balan Matter balan	-	No No							
	n - Billed Only	Yes							
Entries Show	n - Unbilled	Yes							
	n - Billable Tasks	Yes							
	n - Write Up/Down Tasks n - No Charge Tasks	Yes Yes							
	n - Non Billable Tasks	Yes							
Working Lawy	er	All							